Math 80 Test 4 Practice test1 Fall 2015

Fill in the blanks using the words term, factor, sum, product, difference, quotient, base, exponent,

power, index, radicand or root.

1) Solve |7r -5|=|10r-13| Expression your answer as a solution set.
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2) Solve —2| k + 18] +4>-2. Express your solution as a graph.

=2z~ ¢ % @-"
[\L—\»\Z\L‘.B

— 2.\ .,\(,,Z’ -\

2 2
3) Simplify —X“ -1 12x7-28x

6x2 —11x -7 2x2—3x+1

XE | Uxt3 %=1
(3K-T) 1 (7%=

Gnecle

XY EE?

|2 (AT

Unke

— 2 |-1o0n1glrd 22

—2\-82\ ¥4
Y

S

2 B

-3 \ ..7,0-\')“6\**'

—2\- 2\.\»*-{
»g,\_x—q

> 2TV

vZ\O-\*\?\-—\V\{
- ?D(p'\'\—{ {Z’

Ev



Cnac e
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5) Factor x4 - xy +x3 y-y completely
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7) Factor 2x10 4+ 5x5 +2 by introducing an appropriate substitution.
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8) Factor 18x" —72x8 +54x5 completely.
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9) Given this is the graph of function g(f).
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a) What's the domain of g(t) ?
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b) What's the range of g(t)?

(23]

c) Complete the description of g(t) ("‘ (D / % ) ((.e | 2)
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11) Simplify

Ga(2e) + Yo(26)
LCOD

4a  9b — K
12) Simplify 3: > L= 2-32aop

(S
Close ‘o ‘\'g‘ waeg

SOomMm
\O\A\\ & \Su\\k Ov
./ss—‘

%a} +27 \5"

—

bay™

s i o

3x 3x+6 .
N <2><”3KZ(‘\” 2)

[ CCTATSRY ST 2% Y. 1.

LCD LCD
2xZraxrl | B(XH3XH2) 30 X ).
o — (D (M- 2)(F2)
G
14) Simplify E 2 Z/X >
? LLD

LboTb o

PRI _/(’7_«_4{_‘_02 \OW \
R TRE R R

2.(2—\5)
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16) Simplify = 1 X 2—9
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18) Given X4
XxX+1 x-2

a. What are the excluded values?

-3

b. Solve the equation
c. Check any solution(s). Don’t use decimals.
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